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function rigid pendulum

end

time=10; % integy Sr tlme
[tv,wv]=0ded5 (Qeom, [0, time], w0) ;
plot (tv,wv(:,1)*180/pi);
wv (length(tv),1)*180/pi

Qn

for i=l:length(twv)
beta=wv (i, 1l); betadot=wv (i, 2);
b2dot=m*R/ (IG+m*R"2) * (a*cos (beta) ~g*sin(beta))-c/ (IG+m*R"2) *betadot;
xG2dot=a-R*b2dot*cos (beta) +R*betadot”2*sin (beta) ;
yG2dot=R*b2dot*sin (beta)+R*betadot”2*cos (beta);
F(i)=m*xG2dot;
N (i)=m*g+m*yG2dot;

end

figure

plot(tv,F) % plot the horiz:
hold on

plot (tv,N, 'r') % plot the wvertical force
hold off

function dwdt=eom(t,w)
beta=w(1l); betadot=w(2)

beta2dot=m*R/ (IG+m*R"2)* (a*cos (beta)-g*sin(beta))-c/ (IG+tm*R"2) *betadot;

dwdt=[betadot;betal2dot];
end
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